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1. FEEAMBTEDEGE

(1) RIL FEFBEABRREDSE
M1 6HR)L DR SBEYEERE A, = 157 (md)

REATIER 0, = 1/3 % (236 / ¥3) x 157 = T101(N) = 7.1(kN) 3¢ 724kgf)
EEATIERE 0, = 1/2 % (235 / ¥3) * 157 = 106561 (N) = 10.7(kN) (3¢ 1092kgf)

(2) AVvH ) —bXEREICEEZS oY — B EBEABREDTE
A o—rOMED2 2EE LA = 387.1(mmd)
EHMER Q, = 1/3 * 427.8 * 387.1 = 55200(N) = 55.2(kN) (3¢ 5633kgf)
SEEATTERF 0, = 2/3 * 427.8 * 387.1 = 110401 (N) = 110. 4 (kN) (3¢11265kgf)

Q = Min(Q, Q) & YEFBREAMTEILX. RYFER 7. 1KN) . EHFEFR 10.7KN) &7 5,
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2. BAMAARBEOI—VIRBIREZR LAY HETEOFHE

AYHETEE c(mm)ET S, (B)EKEY Q. =1/3% 1.7 % (05 * 314 % c2) > T101(N)EAE D c ZEtETBHE ¢ > 90(mm)EE D,
B TIE AYBHETEEMHEDOIFB/LULELLTLSD, 2R84 D22 DAMERIL 22.2mm T, 22.2 * 3 = 66.6 < 90 &7
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